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ECONOMICS
PAPER —1II

Note : This paper contains fifty (50) multiple choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  The Cobb-Douglas Production Function assumes that the elasticity of substitution is :
(A) One (B) Two (C) Three (D) Four
2. A consumer attains his/her equilibrium at the point where :
(A) Total Utility =Price (B) Marginal Utility > Price
(C) Marginal Utility < Price (D) Marginal Utility =Price
3.  Pareto Optimality can take place at any point on :
(A) Laffer Curve (B) Engel Curve
(C) Contract Curve (D) Lorenz Curve
4.  According to Say’s Law, unemployment can be removed by :
(A) Rise in wages (B) Fall in wages
(C) Taxing wages (D) Subsidising wages
5.  Which of the following is generally referred to as a ‘broader measure of money supply’ ?
A M (B) M, © M, (D) M,
6. In case of proportional relation between consumption and income :
(A) APC > MPC (B) APC=MPC
(C) APC < MPC (D) APC=MPS
7.  Indicative Planning is :
(A) Rigid (B) Comprehensive
(C) Autocratic (D) Flexible
8.  The major difference between Harrod-Domar and Solow models of growth lies in :

(A) Substitutability between labour and capital
(B) Returns to Scale

(C) Returns to variable factor

(D) Growth of income

9.  In Nurksian formulation of the thesis of the “vicious circle of poverty” in the context of an
underdeveloped country, the inducement to invest is limited by :
(A) Lack of savings
(B) Lack of investment opportunities
(C) Size of the market
(D) The policy of the government
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Me: U YEIS # U= (50) TEHE U 1 USRS T F A (2) i 1wl ywH F IW
HiEL

1.  hid-STer o ScdIeT %ol &l 7 ¢ o gfqeemes &
(A) THT (B) AT (C) % (D) =RE

2. YN 39 fag W STU Ao YT Rl € e
(A) FA ITAINTA =HHd (B) I ST > ®iHd
(C) =t ST < *iHd (D) o= 3T = whimd

3. W& ASHfae (seadd) ford ok o forelt oft farg W Tenfya &1 wehan €
(A) IHRR h (B) T~/ a%h (C) Hiwa ah (D) R~ 5k

4. Q% 90 F AR, SRS 5T % SR THE i <7 ol ©
(A) I H FRrat (B) Wiy H fiREe
(C) TSRH T F AT (D) eI & T 3T T

5. feifRa o 9 fohd AT ‘{1 SR 1 SATQT A9k AT a1 S § 2
(A) M, (B) M, © M (D) M,

6. UM AR T F o= FHIA T i feofa # :
(A) APC > MPC (B) APC=MPC
(C) APC < MPC (D) APC=MPS

7.  Hichides IS I © :
(A) = (B) TGS (C) s (D) Tt

8. Tafg & e-SR 3R Wl Hisdl & o= e oT=R v # fem €
(A) 99 IR YSTt o o9 Yfqema ot (B)  Y9M % Hfdwa
(C) uRad! R & ufdwa (D) & & Hfg

9.  3Tcu-foshfad <91 & G H, el & goash’ o iy o Tehfaed ufqure #, faw & &t
SR foF e & gI0 HHmes Bl © -
(A) sl T T (B) Trae et 1 ST
(C) ST T 3R (D) ER i Hifd
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Taxes raised are credited into :
(A) Consolidated Fund (B) Contingency Fund
(C) Public Accounts (D) Private Accounts

Items which are of recurring nature are covered under :

(A) Capital Budget (B) Revenue Budget

(C) Cash Budget (D) Unified Budget

The difference between total revenue and total expenditure is called :
(A) Capital deficit (B) Revenue deficit

(C) Fiscal deficit (D) Budgetary deficit
Borrowings from foreigners are known as :

(A) Export of goods (B) Unrequited receipts

(C) Capital receipts (D) Current receipts

Quantitative restrictions on imports by a country will lead to :
(A) Decreased demand for imported products

(B) Increased demand for imported products

(C) Increased supply of imported products

(D) Decreased supply of imported products

According to Economic Survey 2007-2008, India’s exports as per cent of GDP in 2006-
2007 stood at :
(A) 11.0 (B) 14.0 (C) 16.0 (D) 19.0

The fiscal deficit of the Central Government in India as percentage of GDP in 2006-
2007 stood at :
(A) 1.4 (B) 3.4 (©) 5.4 (D) 4.1

As per the UNDP’s Global Human Development Report 2007, India’s relative ranking
out of 177 countries in respect of HDI was :
(A) 123 (B) 131 (C) 128 (D) 125

Gross Domestic Savings as percent of GDP at current market prices in India in 2006-
2007 was :
(A) 30.8 (B) 34.8 (© 37.7 (D) 39.2

In a regression equation of X on Y, bxy is equal to :
(A)  byx (B)  Jr © ) —

Which of the following averages is known as ‘root-mean square” ?
(A) Quadratic Mean (B) Harmonic Mean
(C) Geometric Mean (D) Combined Mean
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

U ! TG F I o T B o S @
(A) THRRT P (B) STeR{ERal
(C) WS o (D) fsht <@

3l Yhia 1 7S fohd ool o SF=avia STl €
(A) YSTd sste (B) 3 &SIE (C) UFE T (D) Uehlhd &SIe

FA AN IR Fol = & sl 3T FIT HeAl §

(A) ST =eT (B) 3NTH =T (C) SIE = (D) SSIEA =T
forforll & SUR <9 1 3 el S ¢

(A) =gl 1 fifd (B) Tk I AT 3THfIaa wiftea

(C)  gSirT wfear (D) =g Tt

N g A R IRHATOTCHS Ffdsier fre 3R wom &id ®
(A) STTfad 3Gl o fAU MM HE  (B) ST 3Gl & foTT 7 H ghg
(C) oTNfad Screl ot oMgfd § gfg (D)  STenfad SRl i 2TYfd § g

2007-08 o TIfefeh Tl o STTER, 2006-07 H GDP o Gfaerd & €9 H§ 9Rd o 4fd 9 :
(A) 11.0 (B) 14.0 (C) 16.0 (D) 19.0

YR H g GUhR 1 TSI =T 2006-07 § GDP o1 foha-m gfawa o .
(A) 1.4 (B) 3.4 (C) 5.4 (D) 4.1

2007 1 g TA € 0 ot e gET SaciaHe RUe o ST{9R, HDI % 9% , 177 <91 ° 9
IRA o TTafereh Joft ot 2
(A) 123 (B) 131 () 128 (D) 125

2006-07 H, YRd ¥ =Te] SIS shiAdl W Fehel <34 s=d GDP sl 31 gferd off
(A) 30.8 (B) 34.8 (C) 37.7 (D) 39.2

X 3R Y &% i |Hiehor #, by foRoeh sReR  :

(A)  byx B)  Jr © r (D)

FreAifera offadi # 9 go-Are-at’ (T2 TH-TaR) HE E?
(A) fgemdt wre (B) TWiMe Wem  (C) SAMHfae "Wiew (D) fafya wre
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Consider the following statements and select the correct answer from the codes given below
for questions 21 to 30 (Assertion and Reasoning type item).

21.

22.

23.

24.

25.

Assertion (A) : Under oligopoly, all firms are aware of their inter-dependence.
Reason (R) : Personal rivalries do not exist among firms under oligopoly.
(A) Both (A) and (R) are false

(B) Both (A) and (R) are true but (R) is not the explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Assertion (A): Giffen goods have a positively sloped demand curve.

Reason (R): The positive substitution effect in their case is more than offset by
negative income effect.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) (A) is true, but (R) is false

(C) Both (A) and (R) are false

(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

Assertion (A) : According to Hicks, trade cycle occurs due to the interaction between
multiplier, and accelerator.

Reason (R) : In Hicksian business cycle theory, accelerator is impotent in the
depression phase.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) Both (A) and (R) are false

(D) (A) is true, but (R) is false

Assertion (A) : Duesenberry hypothesised that consumption - income relationship is
irreversible.

Reason (R) : Consumption depends not only on current income but also on previous

peak income.
(A) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(B) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) Both (A) and (R) are false

Assertion (A) : Backwash effects imply an unfavourable situation arising in
underdeveloped countries.

Reason (R) : Undue emphasis on exports of raw-materials at the expense of the
growth of domestic manufacturing.

(A) (A) is true, but (R) is false

(B) Both (A) and (R) are false

(C) Both (A) and (R) are true and (R) is the correct explanation of (A)
(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
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feTfend &emi uT &1 & 37T 21 @ 30 91 ( MR T 3N T FarT & 997) & fordt 19 faw
FHISl @ GEl X T TIT BN

21.

22.

23.

24.

25.

AR (A):  STCUITUR o SFaiid, Tued HH 701 3ia:fefar & ufa ek et €
& (R) : ST o STaFTa Al & Hea SAfRITd Yfdgiedl foremM T2l ardl ¢ |
(A) (A) 3R (R) SHI 319 ¥

(B) (A) 3R (R) IHI A §, W (R), (A) Tl TR T T

Q) (A) T T, T (R) 319 ¥

(D) (A) 38 T, W (R) §A T

afrRe (A):  FIRRA e 1 #i 9% oS €9 gAe g 7

e (R) : Skt fRafd #, gFTeHs YiqEeTa qurE, RIS 3T 91d §R1 a98d $9
frogefad o< fean S 1
A) (A) 3R (R) T ¥ € IR (R), (A) T HE TR T |

(

(B) (A) ¥ B, T (R) 38 T

(C) (A) 3R (R) I 78 T

(D) (A) 3R (R) I ¥ &, T (R), (A) HT & TILH T € |

AR (A): o F STUR, MR =5k U1 IR @ & o1 31d: foran it ao1g 9 3
AL

T (R) : oo =R =1k fagTa H, e T % =0 § WA g ¥

(A) (A) 3R (R) SHI T € 3R (R), (A) T T& ST=IHT T

(B) (A) 3R (R) IH ¥ § T (R), (A) T T TR & T |

(C) (A) 3R (R) I 78 T

(D) (A) 9 B, T (R) 39 T

AR (A) 1 SEHE J TR i § o ST 3T Ty Tyead=ia 2|

& (R) : ST 7 A SdaH o W W st stfushad o Wt fAsit e §)
(A) (A) 3R (R) I 9 €, T (R), (A) FT & TILH T € |

(B) (A) 3R (R) IH ¥ T 3R (R), (A) Tl T TILIHIT T

Q) (A) F B, T (R) 38 T

(D) (A) 3R (R) THI 319 B |

ARTRAT (A) : ‘ST 3Thay I ARII Teufashiaa Tu | Scoe Ufaeat feafa @ 2
e (R): <Mt fafmior 6t Safg &t T W = 1 & Al W) SHEydsd Sk |
(A) (A) FE@ T, T (R) 319 ¥

(B) (A) ¥R (R) I 318A &

(C) (A) 3R (R) IHI T T 3R (R), (A) T TE TI=IHT T

(D) (A) 3R (R) SF 9 ¥, T (R), (A) FT T TR T 2|
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26. Assertion (A) : Low levels of labour productivity exist in underdeveloped countries.

Reason (R) : It is due to the lack of physical capital.

(A) Both (A) and (R) are false
(B) (A) is true, but (R) is false
(C) Both (A) and (R) are true and (R) is the correct explanation of (A)
(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
27. Assertion (A) : InIndia, more and more farmers are getting pushed out of agriculture.
Reason (R) : Their land base is becoming smaller.
(A) (A)is true, but (R) is false
(B) Both (A) and (R) are false
(C) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

28. Assertion (A) : Jagdish Bhagwati stated that a country, in its growth process, would

experience ‘immiserizing growth” and deterioration of ‘terms of trade’.

Reason (R) : Income elasticity of demand for the country’s exports is high.
(A) Both (A) and (R) are true

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true and (R) is the correct explanation of (A)

(D) (A) is true, but (R) is false

29. Assertion (A) : Coefficient of Concurrent Deviations is calculated between the

direction of deviations and not their magnitudes.

Reason (R) : If it is desired to study the correlation between two series in a very

SICES

S o

casual manner.
(A) is false, but (R) is true
(A) is true, but (R) is false
Both (A) and (R) are true, but (R) is not the correct explanation.
Both (A) and (R) are true and (R) is the correct explanation.

30. Assertion (A) : James Buchanan viewed that primary burden of public debt is shifted

to posterity.

Reason (R) : Public debt is paid by taxing the posterity.

(A) is true, but (R) is false
(A) is false, but (R) is true
Both (A) and (R) are false
Both (A) and (R) are true and (R) is the correct explanation of (A).



26.

27.

28.

29.

30.

ARTRAT (A) :  TUfIHiad U H 99 ShAT & = TR TN & 2|
& (R) : 7g ifder goft & 3199 i I W B 7 |

(A) (A) 3R (R) SHI 318 ¥

(B) (A) 9 B, T (R) 38 T

(C) (A) 3R (R) IHI T T 3R (R), (A) T T& TI=IHT T

(D) (A) 3R (R) I 9 &, T (R), (A) FT & TILH T € |

fieRe (A) :  9RA H, SIS ¥ SR fhAM () Tt ¥ ToRT sTeR B o @ €
T (R) : STeRT fH STMER AR BIeT Bl S & ¢ |

(A) (A) 99 B, T (R) 39 T

(B) (A) 3R (R) IHI 318 ¥

(C) (A) 3R (R) IHl T T 3R (R), (A) T T& TI=IHT T

(D) (A) 3R (R) SF 9 ¥, T (R), (A) FT T TR0 T8 2

AMRAT (A) : SIS et A el © o U 3w, o1t Hafg wishen § ‘ soiiarisfei my’
3R SATIR vt § STeHfd 1 STHS T |

e (R) : W & Tl & ford win ) e < erfees Bt §)

(A) (A) 3R (R) 1 7 T

(B) (A) 3TA T, W (R) T T

(C) (A) 3R (R) IHl T T 3R (R), (A) T T& TT=IHT T

(D) (A) ¥ ¥, T (R) 3T T

ARTRT (A) : Tl foaeHl & T i VAT fa=ei st fown & == &1 St € S %
foer & o= & |

& (R) : Ff <t Ao/ daensti % o Teurery i agd Afhfae T Y ST ST
Tifed §1

A) (A) A B, T (R) T B

B) (A)¥d g, W (R) 38 T

Q) (A) 3R (R) IHI T ¥, T (R), (A) T F&l TT=H0T T B |

(
(
©)

(D) (A) 3R (R) IHI T € 3R (R), (A) T T& ST=HT T

)

MUY (A): S b o [TIRIGER AesiTeh R0 1 Wi R et difed
TR & T |

& (R) : resif-eh 0T 1 A el Tl TR R o R a1 S §

(A) (A) FE T, T (R) 39 %

(B) (A) 38H T, W (R) §A T

(C) (A) 3R (R) I 2/ )

(D) (A) 3R (R) SHI T € 3R (R), (A) T T& ST=HT T
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For questions No. 31 to 38, the candidates are required to tick (v') mark the option having

the right chronological order.

31. (i) Theory of monopolistic competition
(i) Gurnot’s Theory of Duopoly
(iiiy Marshall’s Theory of Quasi-rent.
(iv) Sweezy’s kinked demand curve Analysis
Codes :
@A) (v G 0 G
® O ) @) @)
© @) @) @) @)
D) @) () (v ()
32. (i) Peacock-Wiseman hypothesis
(i) Buchanan’s ‘An Economic Theory of Clubs’
(iiiy Wagner hypothesis
(iv) Findlay Shirras’s canons of public expenditure
Codes :
(A) @ @) @G (@v)
(B) @) @ (v) ()
(€ @ Gv) @) @
(D) @) @Gv) @& ()
33. (i) Inventory Theoretic Approach
(i) Restatement of the Quantity Theory of Money
(i) Fisher’s Equation of Exchange
(iv) Tableau Economique
Codes :
(A) @ @) @G (@v)
(B) (@) @) @ (v)
(€ (@v) @) @ (@)
(D) @@ @ (@v) (i)
34. (i) Introduction of Rolling Plan
(i) The movement from Planning to Market mechanism
(iii) Feldman-Mahalanobis Model
(iv) Declaration of Plan holiday
Codes :
@A) O G (v G
® () (v O (i)
© @) (v 0 )
D) @ @) @) (1v)
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TR Tfaeqst o1 fagr
TR 1 fg-Afaer =1 fagr
TRIA T STVH-FTH &l fagr

iv) EEftsit 1 fagf=a | ok favermm
A e T

i)
A

(i)
(i)
(
(
(
(B
(C
(D

99T G&AT 31 @ 38 Tk & [o7Q, GULelal &1 Tgl HIcIend W & [aeheq v o i g1

31.

T A=

Reere &t &t Feifedt @
TRy oM 31 Taes
%:a?hgam‘rﬁ?aﬁ

fraeH | SR G3mEet (franfafy) it 3R g9
TheetH-AReHeod Aiea

T A hT I

P.T.O.

11

D —-0108



35. (i) Specific Target-group Oriented Programmes
(i) Introduction of Family Planning
(iii) Direct Anti-poverty Programmes
(iv) Minimum Needs Programme
Codes :
(A) @@ @ (@v) (i)
B) @ @) @) (@v)
(©) (@v) @) @ ()
(D) (@) @) @) @
36. (i) WTO Ministerial Meeting at Cancun
(i) WTO Ministerial Meeting at Hong Kong
(iiiy WTO Ministerial Meeting at Singapore
(iv) WTO Ministerial Meeting at Doha
Codes :
(A) @ @) @@ (v)
(B) (@) @v) @O ()
(€ @ @) @ (@)
(D) (v) @) (i) @)
37. (i) National Rural Employment Guarantee Programme (N.R.E.G.P.)
(i) Sampooran Gramin Rozgar Yojana (S.G.R.Y.)
(iii) Antyodaya Anna Yojana (A.A.Y.)
(iv) Pradhan Mantri Gram Sadak Yojana (P.M.G.S.Y.)
Codes :
(A) @ Gv) (@) ()
(B) @) @) @) (v)
(€ (@v) @) @) @
(D) (@) @v) G @
38. Chairman of the Finance Commission
(i) N.KP. Salve
(i) C. Rangarajan
(iii) P.V. Rajmannar
(iv) K.C. Niyogi
Codes :
A O Gv) G )
B (v Gi) @ )
© (v O @ (i)
D) @) O @) ()
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FHT H WTO &l HAHSed 33

TR § WTO 1 HAHee ™ 93
iii) TR A WTO 1 HifiHeela da&
iv) TRl H WTO &1 HAHed S

HEQLOT YT ASATR AT (S.G.R.Y.)

ST 37 AT (ALAY.)

UM H3f UM " A (PM.G.S.Y.)

fafire Tte-—gu 3@ FrEihd
TIM ¥ TaaiaHe TR=T 9 (N.R.E.G.P)

YRER F=ESH 1 IRe
)
)

i)

)

B
C
D

iil) ge feAa-fauet srisa
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Matching item (Questions No. 39 to 46) : This consists of two lists of Events / Theories
/ Models / Statements, etc. and the other of authors / years. The candidates are required
to match an item in one list with an item in the other and mark the correct matching
option, given in the code.

39. List-1 List-1I
(a) Limit pricing theory (i) E.H. Chamberlin
(b)  Selling Costs (i) Robin Marris
(c) Sales maximisation model (iii) J.S. Bain

(d) Growth maximising model of the firm (iv) William Baumol
Code :
(@ () (o (@)
(A) () @) (@v) (i)
(B) (i) (v) @ (i)
Q) @) @ (v) (i)
(D) (@) @) (@) ()

40. List-1 List-11
(a) Increasing Returns to Scale i By By<1
(b) Diminishing Returns to Scale i) B;+tB,>1
(c) Constant Returns to Scale (i) B;+B, <1
(d) Diminishing Returns to Factors (iv) By+B,=1
Code :

(@ () (o (@)
(A) @ (Gv) (@) ()
B (@v) @O @) (i)
(© @ @) @) @
(D) @) @) @ @)
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5@ @S 4 g geit &1 TF & ueh ¥ g / RagTT / "iSet /@ [T Y & 3 gt i /ad |
gienferel & get-19 51 9gt @i G- 119 &1 7el & @rey Qicrd &r & 3i qgt dferd faaeq av
ferg e &1

39. gen-1 geE-11
(a) ©m1 s e fagra (i) T SERfeH
(b) faska @FTd (i) Wfer =R
(c) Torshl stfrehawieRTor Hisd (i) SLTE 9F
(d) R w1 Hafg ek Afea  (iv) fafeem stH
HIE :

(@ B (© @
(A) @) (@) (Gv) (i)
B) G) (@Gv) (@ (i)
© G) (@@ (@v) (i)
(D) (@) @@ @) @

40. ger-1 geE-11
() UM % STGHM Fhhe @) BB, <1
(b) M F FEEE YfawEa (i) By+B,>1
() UM % feer wiawer (iii) B+By<1
(d) I % FEAH Hfdhet (iv) By+B,=1
HIE :

(@ @B (© @
(A) @) (@v) (i) (i)
(B) (@v) (@) @) (i)
© (@) (@) @) @
(D) (@) @) @ (i)
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41. List-1 List-11

(a) Revealed Preference hypothesis (i) A. Bergson
(b) Quasi rent (i) B.S. Minhas
(c) Elasticity of substitution (iii) A. Marshall
(d) Social welfare function (iv) P.A. Samuelson
Code :

(@ () (o (@)
(A) @) @ 3 G)
(B) Gv) (@) @) @)
© Gv) @ @) ()
(D) @) () (@v) @)

42. List-1 List-1I

(a) Tableau Economique (i) Richard Stone
(b) Life cycle hypothesis (i) Robert Mundell
() An open economy version

of IS-LM model (i) Francois Quesnay
(d) National income accounting (iv) Franco Modigliani
Code :

(@ (b) (o (@
(A) @) () (@Gv) @)
(B) @) @ (G @)
(© @) (@Gv) @) @)
(D) Gv) (@) @ (D)

43. List-1 List-11

(a) Physical Quality of Life Index (i) W.W. Rostow
(b) Organic Composition of Capital (i) R.F. Harrod
(c) Warranted rate of growth (iii) Morris D. Morris
(d) Stages of growth theory (iv) Karl Marx
Code :

(@ ® (© @
@) (v @) 0 G
B () (v 0 G
© () @) @ @)
D) Gi) (v) ) @)
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44. List-1 List-11

(a) Income effect of devaluations (i)  Depreciation
(b)  Price effect of devaluation (i) Elasticity approach
(c) A measure to correct disequilibrium

in BOP (i) S.D.Rs
(d) International liquidity (iv) Absorption approach
Code

(@ ® (© @

(A) @ @ 3@ (@v)
(B) (v) @) @) @
© (v () O (i)
D) Gi) () @ @)

45. List-1 List-1I
(a) Regulation of Capital market i@ CACP
(b)  Selective credit control (i) Gadgil formula
(¢) Minimum support price (i) RBI
(d) Plan transfers (ivy SEBI
Code

(@ ® () @
(A) @v) @) @) (i)
B (v ) @ 0
© ) @) (v @
D) (v ) 0 )
46. List-1 List-11
n
@ n () t
®) n, () |[n
n
(c) nCrX | n-r (iii) I_|n-r E
n
(d) ner| n-r (iv) I_|n- "
Code
(@ @ (o @
(A) @ @) (@v) @
(B) @) @) @) (v)
(€ (@v) @) @ (i)
(D) (@) @v) @ ()
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44. ger-1

STEHEHA| Wl 3T IHE
HIYTIH H1 HIHd FHTS

B.O.P. § 3THdc i 3k i <l HIY

\g/‘\/

(A) @) @ @) ()
(B) (v) () () (D)
© Gv) (@) @ (i)
(D) @) @) @ ()
45. ger-1
(a) STt SSIR k1 faf e (i)
(b) FIAIHS GG AT (i)
(c) =IAaH g9 HiAd (i)
(d) IS A (iv)
HIE :
(@ @) (© (@
(A) @v) @) @) (i)
(B) (v) () () (i)
© @) (@) (@) ()
(D) @v) (@) @) (i)
46. ger-1
(@ n. (i)
(b) LN (ii)
(c) n X |[n-r (iii)
(d) n, X[n-r (iv)

(A) @) () @v) (@
(B) @) @ G )
(© (@v) G @ ()
(D) @) @Gv) @) (i)
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47.

48.

Read the following passage below and answer questions from 47 to 50 on your

understanding of the passage :

One argument for protection that stands up to close economic scrutiny is the
infant - industry argument. It holds that a nation may have a potential comparative
advantage in a commodity, but because of lack of know-how and the initial small level
of output, the industry cannot successfully compete with more established foreign firms.
The infant-industry argument for protection is correct but requires several important
qualifications. First, such an argument is more justified for developing nations where
capital markets may not function properly. Second, as experience has shown that
protection, once given, is difficult to remove. Third, what trade protection in the form
of an import tariff, can do an equivalent production subsidy to the infant industry can
do better. The reason is that a purely domestic distortion such as this should be overcome
with purely domestic policy such as direct production subsidy to the infant industry. A
production subsidy is also a more direct form of aid and it is easier to remove than an
import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give
rise to external diseconomies because the tax does not distort relative prices and

consumption.

The obstacles for an industry to compete with more established foreign firms are due to :
(A) Lack of know-how and technology

B) Lack of Capital and initial small level of output

Lack of know-how and initial small level of output

Lack of flexibility.

Developing countries are characterised by :

(A) Improper functioning of money markets

B) Absence of capital markets

Absence of both money markets and capital markets

Improper functioning of the capital market
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47.

48.

e faar uf=eT afzw s uft=dq &1 31ui THeT & SITEIT U¥ W97 GEAT 47 @ 50 % &7
S GINTT |

g&H TR BHE % guedq H weor & fod St adh feon sman & 4 fergy e &1 ok 7
3T 379 & o Teg 1 ag | HrTeT PO STy 2 Hehdl © T3 I o 3T4TE i oeTe | 31X
SCUTEH ( 3TNTA) o1 YRIENR Biel TR i osTe | e, SATGT FSted forQei FHi o §1el Hherdrgaeh
gferegert & X HeRar 1 HeTor  fer, frg)-Sen 9 Te § T S8 e Hecyut drerare i
STTTTIHAT €| e, THT ek T T o o ST =IreevTd 3ewdl & Stei Y seiR
v 3fed &9 F FE 6 B gE, S 5 Sy | g% S ¥ fF U aR < W geen
BT HfaA Bt ¢ 1 g, ST WRIeeh o ®9 | S T8 Aoy YRaT hi 3T&T 36k SeR
fean T aftem (wfeael) forg-sem & fau @ Jem fag 3 veha 1 39 FR0 98 | fR
T fags o] fowaor 1 fogs e Aifa § R fohan o1 s fow forp-sem w6t gow
ScUTeA-AfSHEt TR ST Fehell €1 3G HiSHE! STEM i AT Jouet ®9 € 3 39
ST UReoh ohi STUTT STTET § 21 S Tohdl € | STRT Sl Y& WieqSt UM i1 faHn Jeeh
9 SR ifd Bt | I 3 foransti & s sy el ridiei shl gdicared s o fore feam st
¥ Fifr TH X § TUIfaes qodi 3iR s § faapfa =& et |

SHTRT FSTe TRt ol o |1 Tiaeasl S | TR I fohd aoTe 9 e ST ©
(A) T AR Frenfirkt s e1vme

(B) ST W1 S1WE SR YR Ieared =l F7 &R

(C) M &1 3199 3R SR w1 RftsTsh 7w

(D) AT T YT

fompre=TE <1 fohd o BRI IfeTfoRd 31 % -
(A) &1 ISR i TTeTd Shriehtiial

(B) S ASIRI okt sTgufeerfa

(C) H&1 9Nk IR YSit areik S st eTqafeerfa
(D) STt TSR <kt TTeTd ShriehTid
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49. Which is appropriate form of trade protection ?
(A) Export tariff
(B) Import tariff
(C) Export subsidy

(D) Non-tariff barriers

50. Which of the following is appropriate activity giving rise to external economics ?
(A) A direct tax
(B) Tariff
(C) Trade policies

(D) Production subsidy

-00o0-
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49. IR TIETT 1 ST T9 F1 2
(A) @ gen

(B) TG Yeh
(C) Trafa = ford enfefer wamm
(D) - =

50. fT=AifRa & 9 s wfafafy smer gens s 3o wH & g 3uge &2

(A) FI&
(B) HHI Yook
(C) =AMR ifa=n

(D) 3 & forg efifefer FRman

-00o0-
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